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Word of the Day

MELLOWED
_—_ Pleasantly rich, full, or soft not harsh, bright, or irritating

W Synonyms : Delicate , Savo/rz__
Antonyms : Harsh , Rough , Stro\rg/

Sentence: Videos of Amritpal Singh’s address in a

gurudwara in Punjab’s Rode village, from where he was

-—-—/

arrested, may look like a case of transformation — the 30-

——————

year-old goes from a gun-waving angry young Sikl;_t_(_)__a

mellowed preacher.




In each of the following questions a grammatically
correct and meaningful sentence is given and four

words are put in 43@ One of these four words may

be misspelt. You have to identity the misspelt words

and goose the appropriate option as your answer. If all
the words are correctly spelt , then mark ‘All correct”

as your answer.



Q1. Touted as the most expansive film made in Indian

cinema , it looks like 2.0 might become the biggest film

that have seen till date.




Q2. Learning tools and technology enable students to

develop effactive , self-directed learning skills.

Learning

Technology




Q3. Interective social skill games are excellent learning
tools that teach children discipline because playing
games requires children to follow rules and guidelines ,

in order to participate.

e DEGNRTCE R

Discipline

Guidelines

Participate




Q4. Learning tools and technologies like social learning

platforms make 1t easy for teachers to create and manage

groups.

Platforms

Teachers




In the sentences given below , four words have been

highlighted and placed in a sentence. Identify the

correct sequence of the words 1n the sentence. Also one

of the given words will need to be replaced. Identify the

correct sequence and the correct replacement and mark

——— - —

that option as your answer.



Q5. Ultimately , ending the culture othat allows
government vehicles (2) and VIPs to 1gnore road rules (3) will

encourage the average citizen to impunity (4) them.

nswer : Opti\oyA
: exemption

from punishments,
rom puaaAae

losses. or other
L, . None of these ?

negative consequences.




Q6. The Island nation , where measles 1s a notifiable unimmunized(1)
, has also carried out periodical mass (2) vaccination campaigns to

reach (3) the small pockets of infection, (4) children.

Answer

Unimmunizec

made immune (as by
B . None of these . . \/(/a/
DID YOU vaccination)




Q7. The question that has arisen (1) 1s whether enhanced fines can
determinants (2) change this record when other(radically (3) ,

beginning with administrative reform (4) remain untouched.

Answer Optidn B

Determinants : a
C. 3-1

D. 2-4
E. None of these

factor which decisively

affects the nature or

outcome of something.




Read the sentence to find out whether there 1s an error
in 1t. The error , if any , will be 1n one part of the
sentence . The number of corresponding to that part
will be your answer . If the given sentence 1s correct as

1t 1s , mark the answer as ‘No error’ .

(Eyoon Deelbion).
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DID YOU
KNOW?

/ O\
Q8. Rajni/along @her roup of fie’n‘ds A@to Kolkata (B)

to celebrate Durga pooja. (C) No Error (D) None of these (E)
IBPS CLERK PRELIMS 2021

Answer : Option B

Replace ‘are’ with ‘is




Q9. The contestants (A) m (B) complete all the

experiments.(C) No Error (D) None of these (E)
IBPS CLERK PRELIMS 2021

Answei : ()ptiAon B

‘could not hardly’ be replaced by ‘could

- hardly’ conveys negative and not is also

negative , two negatives make it positive.
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DID YOU
KNOW?

Q10. Lucy was working (A) overtime because (B) she had to prepare

(C) for an importantll correct (E)
IBPS CLERK PRELIMS 2021

Arrakine

-

Answer : Option D

‘meeting’ instead of ‘meating’




Q11. The community today may @illing to (A) engage with
—
lawmakers and their aides (B) with the same sense of purpose i

(C .@ on account of differing perceptions of events in India D

Only 11
Both I and 11
Both I and 111

No Error

Answer : Option D
A & C are erroneous.

In part A, ‘less’ will be used as

there is no comparison.
In part C, ‘did’ will be used

instead of ‘does’ as ‘earlier’

indicates the action of past.



o
Q12. In today’s India , private{investorsjare Y A) strong enough to take
he @(B) that’existg undey the umbrella of the public sector

L= (C) therefork the government has prioritized the sale of PSUs.(D) No

X(N’L Error (E) ﬂ

A. Onlyl
B,/ Both II and I1I
C. BothI and Il

Answer : Option B

In part B, ‘take on’ in place

of ‘take of’.

Take on : undertake a task or

D Only Il responsibility.
DID YOU f. No Error In part C, ‘exist’ will be used
KNOW? as ‘activities’ is plural in

number.



In each of the following questions , a statement with a
single blank 1s given followed by five options . Choose
the most suitable word from the given options to

complete the sentence meaningfully.



Q13. The primary purpose of a/an ﬁgzi,:(,é%lg trust 1s that it moves
assets out of your estate , reducing yedr possibility of bumping up

against the estate tax.

. _Inoperable
. Irrevocable

. Reasonable
U

. Usable
— Answer ¢ Option B

vailable

— Irrevocable : not able to be changed ,
_ reversed.




Q14. Health officials in the capital have warned that high levels of

pollution will the effects of the pandemic.

a. Exert

¢. Contend

d. KExacerbate

e. Toil Answer : Option D

Exacerbate : make (a problem , bad

DID YOU
KNOW? situation) Wor@




Q15. The Ghaziabad Traffic Police has launched “Nakel” in the

district for disciplining errant motorists and restore a of

normalcy on district road.

a. (Disposition

b. Notwithstanding

i, =\
C. emblance

d. Esteem
e. Ascertain Answer : Option C

Semblance : The outward appearance

when the reality is different.




Q16. In recent years , has been the path , way used to enact

or pursue highly partisan legislation.

Q/I@mciliation

Directions
Inclination

Conditioned

Answer : Option A
Reaction

Reconciliation : The restoration of
AR —

friendly relations OR Reunion , Reuniting



Q17. A flood in my social housing block lays bare the of

placing profit over people.

a. Early
b. Effectively

¢. Indefinitely
d. Foll Answer : Option D
e. Legally Folly : L.ack of good sense; foolishness




Rearrange the following sentences (A) , (B) , (C), (D)
and (E) to make a meaningful paragraph and then

answer the questions .



Q18. The Delhi High Court allowed (A) the CBI and ED’s appeal (B)
former telecom minister A. Raja and others (C) for an early hearing

on its leave to appeal (D) against the 2G case verdict acquitting.(E)

BDEC
CBDAE
DABEC

BDECA

Y . No arrangement

DID YOU required .
KNOW? Answer : Option A




Q19. intensify their agitation from Gctober 1 (A) which will include
an indefinite “rail roko” (B) protest and the social boycott of political

leaders (C) former outfits announced (D) that they would (E)

a. No arrangement

required
b. CBDEA
:
- d. BDECA

DID YOU e. ACDBE Answer :
KNOW? DEABC




Q20. has to give way to (A) Avert accidents (B) at the cost of
maintenance and safety (C) the present system of running trains on a

congested network (D) safety consciousness in operations (E)

d. None of these

ol e. No arrangement

DID YOU required Sentence B is the odd




In each of the following questions five options are
given , of which one word 1s most nearly the same or
opposite in meaning to the given word 1n the question.
Find the correct option having either same or opposite

meaning.



Q21. PRODIGY

. Pauper

. Despondent

Answer \/

Prodigy : Partlcular

. Demure

. Wanton

quality A W‘/




Q22. NONDESCRIPT

A. Conducive

. bisers 7

C. Tantamount

Answer : Option B

Nondescript

D. Defined

distinctive or
N e or__
R E. (Emancipate interesting features




Q23. SAVANT

A. Glutton

Answer { Option B

Savant : A person who

knows a lot about a

particular subject.




Q24. CORPULENT

A Lean v/ ~
B.@/Z}\’JW

C. Emancipa

Answer : Option

Corpulent

well-built gl/

overweight

D. \/‘%&f




Q25. EMBEZZLE

isappropriate

. Balance
. Remunerate

. Clear

. Perfection

Answer : Option A

Embezzle : Steal or

misappropriate money
e

placed in one’s trust or

belonging to the

organization.



QUESTION OF THE DAY

Choose the word which is most nearly the
same or opposite in meaning to the given

word

1. /Qﬁlxotlc

3)l«m'vorldly
4./Ethereal

. Impalpable
/

5. /Cosmic






